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1st Semester Examination

COMMERCE (General)
Paper - C 2-T
(Business Organisation & Management)
Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

1. Answer any fern questions : 10x2=20
(a) What do you mean by small scéle business ?
(b) What do you mean by service sector ?

(c) What do you mean by outsourcing ?
(d) Define ‘sole proprietorship’.
(e) Define ‘Partnership’.
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(2)
() What do you mean by Co-operative society ?

(2) What do you mean by planning ?

(h) What are the principles of planning ?

() What are the different steps of decision making ?
(1) What do you mean by line organisation ?

(k) Draw a chart of ‘Maslows’ theocry of Human
Needs’.

() What do you mean by ‘Autocratic Leadership’ ?
(m) State the different steps of control.
(0} Define ‘Human Resource Management’.
{0) What do you mean by ‘Manketing Mix’ ?
2. Answer any four of the following questions ;  4x5

(a) Outline the major problems faced by the smail
scale business in India.

(b) Give 2 brief account of the benefits of
globalization in Indian perspective,

(c) How would distinguish between a public limited
company and a private limited company ?



(3)
“ (d) State the importance of planning in management.

(e) Discuss the relative advantages and
disadvantages of Democrate leadership sytle in
comparison to Autocratic leadership.

(® Distinguish between ‘Delegation’ &
‘Decentralitsation’.

3. Answer any two of the following questions : 2x10

(a) Discuss the advantages and disadvantages of
limited partnershhip.
(b) Discuss th steps involved in the process of

exercising manageriall control.

() What are the characteristics of sole
proprietorship business ?

(d) State the different social responsibilities of
business.
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